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I{1}= allPermutations = Permutations(Range([l, 9], {4, 9}]
A very large output was generated. Here is a sample of it:
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1, 2, 3, 4}, {1, 2+ 3, 5}, (1, 2 6}, (1, 2, 3, 7},
1,2, 3, B}, (1, 2,3,9), (1, 2,4, 3}, {1, 2, 4,5}, {1, 2, 4, &},
{1, 2, 4, T}, (1, 2, 4, 8}, =<985803>=, (9, 8, 7, 6,5, 3, 2, 1, &},
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9,8,7,6,5,4,1,2,3},(9,8,7,6,5,4,1, 3,2}, {9, 8,7, 6,5,4,12,1, 3},
(9,8, T, 6,5,4, 23,3, 1), (9,8, 7,6,5,4,3,1,2),1(9,8,7,6,5,4,3,2,1
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import itertools

def ListPW(n,m):
ListN=[]
for i in range(1,n+1):

ListN.append(1i)
ListM=list(itertools.permutations(ListN,m))
return ListM

print(ListPW(5,2))
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def Check(Tuple,n):
CheckNum=0
for i in range(n-1):
ListUsed=[]
for j in range(i):
ListUsed.append(Tuplelj])
PW=15-Tuple[i]l-Tuple[i+1]
if Tuplelil%2==0 and Tuple[i+1]%2==0 and PW not in ListUsed:
CheckNum=1
if Tuplel[i]%2==1 and Tuple[i+1]%2==1 and PW==5 and 5 not in ListUsed:
CheckNum=1
return CheckNum
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Num2to9=@;Num4to9=0
for i in range(2,10):
Num=0
for TuplePW in ListPW(9,i):
if Check(TuplePW,i)==0:
Num=Num+1
Num2to9=Num2to9+Num
it 1>3:
Num4to9=Num4to9+Num
print(i, '{ARMNBEWHEE",Num, '&"')
print (' EEEAIMNFEEHSE " ,Numdto9, 'FE")
print ('MHEENSMNFHEELE " ,Num2to9, 'fi")
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